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Money; which he benefits from it — o1 vanont IR1van

OVERVIEW

The X7 queried; what is the rule if someone borrowed an item for appearance
sake only,? but not to use it; is he considered a %X or not. The reason he should
not be considered a X is because perhaps in order to be a YXW one needs to
derive benefit from the item borrowed. n1501n explains what this means.

2 Unnunv uvivo

The explanation of 77°1°» °17n°» is that he uses the item; in this case he is not physically
using this item.

SUMMARY
One side of the query is that a borrower must have direct physical benefit from the
item, borrowed, not merely an indirect derived benefit.

THINKING IT OVER
Why should one think that there is a difference what type of benefit one is
receiving (whether direct or indirect)* in order to be considered a xw?

!'In our text the Xm3 reads 71 X7 77 NORT RIMA.

2 See MR 17 °"wA that he wants people to assume that he is wealthy (he owns this item), so they will lend him
money.

3 mpoIn may be bothered; why is this considered that he is not deriving benefit from it; he certainly is, for people
will trust him and lend him money, since they consider him wealthy; this is definitely a benefit.

4 We may understand why not receiving any benefit at all disqualifies him from being a X1 since we assume that
the ‘reason’ a RW is 1°01IR2 271 is because 17w 1R 22, but why should we care what type of benefit he receives.
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